CS 61A Structure and Interpretation of Computer Programs

Summer 2017 REDEMPTION QUIZ 1
|
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1. (5 points) Temmie Flakes (It’s just torn up pieces of construction paper.)

Implement enumerate_ways, which takes a tree t and an integer total and returns a list of the ways any
sequence of consecutive nodes can sum to total. Below are the four ways included in enumerate_ways(t1, 7).
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def enumerate_ways(t, total):
"""Return a list of the ways that any sequence of consecutive nodes can sum to total.

>>> t1 = tree(5, [tree(1, [tree(2, [tree(1)]),
tree(1, [tree(4, [tree(2, [tree(2)1DDDD),
tree(3, [tree(2, [tree(2),
tree(3)D1), 5
. tree(3, [tree(1, [tree(3)1D1DD) i
>>> enumerate_ways(tl, 7) a )

[(5, 1, 11, [1, 4, 21, [3, 2, 21, [3, 1, 311 1 3 3
>>> enumerate_ways(t1, 4) ITTT : : Tl
[cT, 2, 11, €41, [2, 21, [2, 21, [3, 11, [1, 311 2 1 2 1

>>> t2 = tree(2, [tree(-10, [tree(12)1),
tree(1, [tree(1), : : : e :

.. tree(-1, [tree(2)DDD 1 4 2 3 3

>>> enumerate_ways(t2, 2) :

[[2]1, [-1e, 121, [2, 1, -11, [1, 11, [1, -1, 21, [2]1]

>>> enumerate_ways(t2, 4) 2
[C2, -1e, 121, [2, 1, 11, [2, 1, -1, 2]1] :
2
def paths( ):
ways =
if

for b in branches(t):

ways +=

return ways

return




